GQ#1 SOLUTION:  Acct 2210 Zeigler - Spring 2015 - Chapter 1, 2 (30 Pts)
____ 1. Which of the following entities has primary responsibility for establishing Generally Accepted 

Accounting Principles (GAAP) for business entities in the United States? 
a. Internal Revenue Service.
b. U.S. Congress.
c. The PCAOB

d. International Accounting Standards Board.
e. Financial Accounting Standards Board.

____ 2. The area of accounting that is specifically concerned with communicating financial 

    information to external users, such as shareholders and investors, is known as:

a. Cost accounting

b. Managerial accounting

c. Financial accounting

d. Internal accounting
____  3. Which of the following expressions cannot be derived from the accounting equation?
a. Liabilities + Assets = Shareholders’ Equity

b. Assets – Shareholders’ Equity = Liabilities

c. Assets – Liabilities = Shareholders’ Equity

d. Shareholders’ Equity + Liabilities = Assets
____  4.  Considering the accounting equation, if revenue exceeds expenses, no dividends are paid, and total 

      liabilities remain unchanged, then:   


          a.
   Retained Earnings will decrease.


b.
   Stockholder’s Equity will stay the same.


c.
   Total assets will decrease.


d.
   None of the above would occur.
____  5.
 How does the Balance Sheet differ from the Income Statement?

a. The Balance Sheet is always prepared prior to the Income Statement in order to determine the Retained Earnings balance.

b. The income statement covers a period of time and the balance sheet is for a specific moment in time.

c. The income statement is for a specific moment in time and the balance sheet covers a period of time.
d.    The income statement and the balance sheet do not differ.
____  6. The accounting entry to recognize (record) salary expense incurred, but not yet paid, involves 
which of the following? 

a. an increase in retained earnings

b. an increase in liabilities

c. a decrease in assets

d. a decrease in liabilities

____  7. Which resource provider typically receives first priority when resources are divided up as part


 of a business's liquidation? 

a. Company Management

b. Stockholders

c. Creditors (pg 4/5)
 
d. The company’s external accountants
_____ 8. Stojovich & Barber Company's balance sheet included assets of $10,000, liabilities of $6,000, common stock of $2,000 and retained earnings of $????  as of December 31, 2013. If Retained Earnings on the December 31, 2014 balance sheet is $5,000 and the company paid $3,000 of dividends during 2014, then the amount of Net Income for 2014 was which of the following?  Assume all cash transactions.

* Use the accounting equation to analyze (as it must balance at year-end) *

a.  $7,000
b.  $6,000
c.  $5,000
d.  None of the above.

Analysis of above facts at 12/31/13:
	Acct Equation
	Assets           =
	Liab +
	+ Common Stock 
	+ Retained Earnings

	Beg of Year
	10,000          = 
	6,000
	    2,000
	   2,000 = force


2014 Analysis Proof
	Ending 12/31/13 Retained Earnings
	$ 2,000  (from above)

	Plus: 2014 Net Income
	$ 6,000  (from analysis of R/E Acct)

	Less: Dividends Paid
	$(3,000) (from above)

	Ending Retained Earnings at 12/31/2014
	$ 5,000  (agrees to fact pattern above)


Use the following fact pattern for questions 9 & 10 (Chp 1 & 2):
Shale, Devardrevil & Wood Enterprises began operations on January 1, 2014 and had the following transactions during the year.  The company uses the accrual-basis method of accounting. 

The business issued $13,000 of common stock to its stockholders in exchange for cash.
The business purchased land for $9,500 cash.
Services were provided to customers for $8,000 cash.
Services were provided to customers for $3,000 on account.
The company borrowed $22,000 from First National bank.
Operating expenses of $6,000 were incurred and paid in cash.
On 12/31/14, Interest of $400 was accrued on the bank loan owed to First Bank.  Payment is due 1/5/15.
A cash dividend of $2,000 was paid to the stockholders (owners).

Note: Use a generic template (see class website) to analyze all transactions to confirm your answers below.

_____ 9. Based upon the above, Total Assets at December 31, 2014 would be:

a. $24,000
b. $46,000
c. $47,500  (No, the purchase of land, with cash, resulted in trading one asset for another)
d. $57,500

e.  None of the above.  (13,000+8,000+3,000+22,000-6,000-2,000 = $38,000 total assets)

_____ 10. The amount of Retained Earnings as of December 31, 2014 would be: 
a. $2,600 
(8,000+3,000-6,000-400-2,000 dividend)
b. $3,000
c. $4,600
d. $5,000
e.  None of the above.

Acct Equation “Proof”:  38,000 Assets = 22,400 Liab + (13,000 C/S + 2,600 R/E) 
11.  Reisner, Wade & Swartz, Inc. had the following transactions.  Classify each for the purpose of the Statement of Cash Flows as either Operating activities (OA), Investing activities (IA), Financing activities (FA), or not reported (N/R) on the Statement of Cash Flows. 

N/R_____ a. Made an adjusting entry (Chp 2) to accrue salary expense at the end of the year.


FA _____ b. Borrowed funds from the bank.


OA _____ c. Paid cash to settle accounts payable.


OA _____ d. Collected accounts receivable.


IA _____ e. Paid cash to acquire land.
12.  Melchert & Carter, Inc. uses the accrual-basis of accounting and performed services in September.
       The company expects to be paid in October.  Indicate whether each of the following statements below
       is True or False.  Note: See pg 63 to distinguish “Recognition” vs. “Realization”.

_T____ a.   Sales/Revenue was earned at the completion of the services.


_F____ b.   Recognition (Recording) of revenue would be delayed until cash was received.

_T____ c.   Assets and equity would both increase when the revenue is recognized (recorded).

_F____ d.   Stockholder’s Equity would increase when the cash is received in October.
_F____ e.   Upon receipt of cash payment in October, the cash receipt would be classified as a



    “financing” activity (FA) on the Statement of Cash Flows. 

 ____ 13. Which of the following accounts is a “temporary” account? 
a. Prepaid Insurance.
b. Unearned Revenue.
c. Cash.
d. Interest Expense  (PG 24)
Use the following to answer questions 14 and 15:

Graham & Lugibihl, Inc. signed a three-year contract to perform ratable (equal monthly) consulting services for a local customer starting September 1, 2014.  The company received $45,000 cash, as an advance payment for these services, and agreed the work would be performed ratably starting on the above date.  
____ 14. The amount of revenue appearing on the 2014 and 2015 income statements, respectively, would be: 

a. $5,000 / $15,000

b. $45,000 / $-0-

c. $3,889 / $11,667

d. $3,750 / $11,250
____ 15. The amount of cash flow on the 2014 and 2015 Statement of Cash Flows, respectively, would be: 

a. $5,000 / $15,000

b. $-0- / $45,000

c. $15,000 / $15,000

d. $45,000 / $-0-

* Use the following information for questions 16-25 *
Zeigler Academic Excellence, Inc. borrowed $18,000 from a local bank on July 1, 2014, when the company was started.  The note had a 10 percent annual interest rate and a one-year term to maturity.  Zeigler recognized $52,000 of revenue on account in 2014 and $65,000 of revenue on account in 2015.  Cash collections of accounts receivable were $40,000 in 2014 and $50,000 in 2015.  Zeigler paid $24,000 of other operating expenses in 2014 and $28,000 of other operating expenses in 2015.  The company repaid the loan, and all related interest, at the loan maturity date.  

Based on this information, and assuming use of accrual-basis accounting, answer questions 16-25. (Hint: Consider the accounting equation and record the events using the Horizontal Model below before answering the questions.  Further, consider the entries included below during your analysis)
	Zeigler Academic Excellence, Inc.
Effect of Events on the Accounting Equation for 2014 and 2015

	
	Assets
	=
	Liabilities
	+
	Stockholders’ Equity

	2014 Events:
	Cash
	Accts

Rec.
	=
	Notes

Payable
	Interest

Payable
	+
	Com.

Stock
	Retained 

Earnings

	1. Loan
	18000
	
	
	18000
	
	
	
	

	2. Rev.
	
	52000
	
	
	
	
	
	52000

	3. Coll. AR
	40000
	-40000
	
	
	
	
	
	

	4. Op. Exp.
	-24000
	
	
	
	
	
	
	-24000

	5. Int Accrued
	
	
	
	
	900
	
	
	-900

	End. Bal.
	34000
	12000
	
	18000
	900
	
	0
	27100

	
	
	
	
	
	
	
	
	

	2015 Events:
	
	
	
	
	
	
	
	

	1/1/15 Beg Bal
	34000
	12000
	
	18000
	900
	
	0
	27100

	1. Rev.
	
	65000
	
	
	
	
	
	65000

	2. Coll. AR
	50000
	-50000
	
	
	
	
	
	

	3. Op. Exp.
	-28000
	
	
	
	
	
	
	-28000

	4. Int Accrued
	
	
	
	
	900
	
	
	-900

	5. Pay Int. &

Principal
	-19800
	
	
	-18000
	-1800
	
	
	

	End. Bal.
	36,200
	27000
	=
	0
	0
	+
	-0-
	63200

	
	
	
	
	
	
	
	
	


16. What amount of interest expense would Zeigler report on the 2014 income statement?

a. $18,000

b. $ 1,800

c. $    900   [18000 * 10% * 6/12]
d. $     -0-

17. What amount of net cash flow from operating activities would Zeigler report on the 2014 statement of cash flows?
a. $15,100

b. $16,000   [40000 – 24000]
c. $28,000

d. $34,000

18. What amount of total liabilities would Zeigler report on the December 31, 2014 balance sheet?
a. $42,900

b. $42,000

c. $18,900   [18,000 + 900]
d. $18,000

19. What amount of retained earnings would Zeigler report on the December 31, 2014 balance sheet?
a. $16,000

b. $27,100   [52000 – 24000 – 900] 

c. $28,900

d. $46,000

20. What amount of net cash flow from financing activities would Zeigler report on the 2014 statement of cash flows?
a. ($18,000)

b. ($  6,000)

c.  $18,000   

d.  $18,900

2015 questions

21. What amount of interest expense would Zeigler report on the 2015 income statement?
a. $    -0-

b. $   900   [18000 * 10% * 6/12]
c. $1,800

d. $3,600

22. What amount of net cash flow from operating activities would Zeigler report on the 2015 statement of cash flows? (careful here – see pg 23)
a. $20,200   [50,000 – 28000 – 1800]

b. $22,000

c. $21,100

d. $37,000

23. What amount of total assets would Zeigler report on the December 31, 2015 balance sheet?
a. $ 63,200   [36200 + 27000]

b. $ 61,700

c. $ 36,200

d. $124,900

24. What amount of net cash flow from investing activities would Zeigler report on the 2015 statement of cash flows?
a. ($19,800)

b. ($18,000)

c.  $  2,000

d.  $      -0-
25. IF Zeigler also declared and paid a $1,500 dividend during 2015, what final retained earnings balance would it report on the December 31, 2015 balance sheet?
a. $63,200

b. $61,700   [27100 + 65000 – 28000 – 900 – 1500]
c. $34,700

d. none of the above
26. The following 2014 transactions apply to Hensley, Calkins & Novak, Inc., its first year in business. 
Note: Assume all events are cash transactions

1) Issued stock to investors, $10,000.
2) The company borrowed $10,000 cash from the bank.
3) Services were provided to customers and $12,000 cash was immediately received.
4) The company bought $3,000 of equipment for its business operations.
5) The company acquired land for $10,000.
6) The company paid $5,000 for 12 month’s rent for the building where it does its business.
7) The company paid $1,000 for supplies that were all used during the period.
8) The company sold the land acquired (in item #5) for $10,000.
9) A dividend of $1,500 was paid to the owners.
10) Repaid $5,000 of the loan described in item 2.

Required:

A) For each transaction, identify the type cash flow and prepare a 2014 Statement of Cash Flows in good form (See pg 20-23 and/or pg 69-70 for guidance).  Solution Below.
B) Did the company have overall positive cash flow for the year?  If so, how much did total cash increase?
Yes, an increase of $16,500.  

C) Did the company have positive cash flow from its Operations during the year?  Why is this particular number important over the long run?  Comment. 

Yes, an increase of $6,000 indicates the company is generating positive cash flow from day to day operations (i.e. why they are in business).  This is an important long-run benchmark (sub-total) when analyzing company performance.
	Hensley, Calkins & Novak, Inc

	Statement of Cash Flows

	For the Year Ended December 31, 2014

	Cash flows from Operating activities
	
	

	
	Cash receipts from revenues
	$12,000
	

	
	Cash payments for rent
	
	(5,000)
	

	
	Cash payments for supplies
	(1,000)
	

	Net cash flows from Operating activities
	
	
	$6,000

	Cash flows from Investing activities
	
	
	

	
	Cash payments for equipment
	(3,000)
	

	
	Cash payments to acquire land
	(10,000)
	

	
	Cash receipts from sale of land
	10,000
	

	Net cash flows from Investing activities
	
	
	(3,000)

	Cash flows from Financing activities
	
	
	

	
	Cash receipts from stock issuance
	10,000
	

	
	Cash receipts from borrowed funds
	10,000
	

	
	Cash dividends to owners
	
	(1,500)
	

	
	Cash payments to reduce debt
	(5,000)
	

	Net cash flows from Financing activities
	
	
	13,500

	Net increase in cash
	
	
	
	$16,500

	Plus: Beginning cash balance
	
	
	-0-

	Ending cash balance
	
	
	
	$16,500


____ 27.  Which of the following correctly states the proper order of the accounting cycle? 

a. Record transactions, adjust accounts, prepare statements, close temporary accounts.

b. Adjust accounts, record transactions, close temporary accounts, prepare statements.

c. Prepare statements, record transactions, close temporary accounts, adjust accounts.

d. Adjust accounts, prepare statements, record transactions, close temporary accounts.

____ 28.  The purpose of the accrual basis of accounting is to: 

a. Report revenue when cash is received.

b. Improve the matching of revenue and expense in the proper period.

c. Report expenses when cash disbursements are made.

d. Improve the company's earnings per share.

____ 29. Which of the following transactions is not an accrual? 

a. Recording interest earned that is expected to be received next period.
b. Recording interest expense incurred, but not yet paid.
c. Recording vehicle maintenance expense incurred, but not yet paid.
d. Recording the pre-payment of two year's worth of insurance. (Deferral)
30. 
Why are adjusting entries necessary in an accrual accounting system?  Discuss why and provide an example of an accrual and a deferral adjusting entry in your discussion below.  (See pg 76)
Adjusting entries are necessary in order to recognize revenues and expenses that should be 
reported in the current year, but have not. Remember that accrual-basis accounting focuses on 
recognizing the effects of transactions, events, or circumstances as they occur, not when cash 
exchanges hands.  There are two types of adjusting entries; “Accruals” and “Deferrals”.
Some common adjusting entries include:

Accruals: “Recognition now, Cash (Realization) later” – See pg 66.
a) Accrued Expenses (salaries, interest expense, etc.)

To accrue salary and interest expenses is necessary because, in both cases, the underlying 
economic events have occurred, yet their effects have not been recorded. When the payroll period 
does not coincide with the end of the accounting period, employees have performed services (the 
event) for which the company owes them money. It is necessary for the company to recognize this
performance by creating a liability. The same can be said for accruing interest expense. When 
interest payments do not coincide with the end of the accounting period, time has passed (the event
that interest is based on) and the company needs to recognize the event by recording a liability.
b) Accrued Revenues (Interest earned, Service Revenues, etc.)

1) Accruing interest revenue is necessary when the date the company receives interest payments 
does not match end of the accounting period. Interest is earned based on the passage of time, so 
the company must recognize this fact by recording an asset in the amount of any interest earned.
2) Accruing service revenue:  Some services are earned based on the passage of time.  The
reasoning for the accrual-entry is the same as it is for accrued interest expense.

Deferrals: “Cash (Realization) now, Recognition later” – See pg 73.
c) Deferred Expenses involve recording an asset on the balance sheet.  Cash is paid to acquire the 

asset first and then the asset is expensed as it is consumed over time.  Examples include prepaid rent, 
supplies, prepaid insurance, etc.  In essence, we are paying cash now, but deferring (i.e. 
“postponing”) the recognition of expense until some future point in time.  Most deferrals are based 
on the passage of time. For example, a prepaid right to use property (prepaid rent) is consumed 
over the course of the lease agreement.  Period-end adjustments are required to properly reflect 

the (any) remaining asset.
d) Deferred Revenues involve the receipt of cash upfront and are initially recorded as a liability.  An 

example is “Unearned Revenue”.  In this case, we have the cash, but have not earned anything at

the time of cash receipt.  As we perform, we earn the revenue and the liability is decreased.

31.  Explain the meaning of the "Matching Concept."  Why is accrual-basis accounting “built” upon this concept? (See pg 70-71)
The "matching concept" refers to the process of "matching" the expenses with the revenues that they produce in the appropriate time period. This matching is largely done through the adjusting process. For example, the accrual of salary expense has the effect of matching the correct portion of salary expense to the accounting period in which the employees contributed to producing revenue. Matching means that expenses should be recognized in the same accounting period as the revenues that they helped a business to earn.

32. What is the "fraud triangle" all about?   Discuss and provide support for the one element the group believes to be most important from an employer fraud-prevention point of view (pg 86).
One of the more basic concepts in fraud deterrence and detection is the "fraud triangle." While researching his doctoral thesis in the 1950s, famed criminologist Donald R. Cressey came up with this hypothesis to explain why people commit fraud (this info is not in the textbook).

Auditors look for these three elements that are commonly present in instances of criminal and ethical misconduct. The first of these elements is the availability of opportunity. The second is the existence of some kind of pressure leading to an incentive. The third is the capacity to rationalize the behavior.  These three elements are often shown in the form of a triangle.

Cressey's fraud triangle was an attempt to identify and explain the elements that must exist for fraud to occur. First, For fraud to successfully occur there must be both a perceived opportunity in the mind of the criminal and an actual extant opportunity. Second, there must be some sort of pressure that pushes an individual into actually taking the risk of committing fraud. The amount of pressure required obviously differs between individuals, but can be the result of financial troubles, greed, or some other incentive. Last, there is a rationalization which encompasses how the individual provides justification for his/her actions. He/she might justify it based on revenge, the fact that others are doing the same thing, or that he/she needs the money more than the defrauded company. 

From an employer point of view, “Opportunity” is the most important element of the fraud triangle. It is the only element that an employer has any direct control over. For example, an employer can always implement more effective internal controls to dissuade fraud. An employer only has indirect control over the other two elements. Counseling services might be offered to help relieve an employee of outside stress (pressure) or a positive example set by management that cheating is unacceptable (rationalization), but the effects of these two tools are indeterminate. It is easier to prevent fraud at the access point by restricting opportunity than to treat the symptoms at its source. 

____ 33. The Sarbanes-Oxley Act established which new “board” to oversee auditing professionals? 

a. AICPA
b. FASB
c. NASBA
d. PCAOB (see pg 85-86)
____ 34. Regarding question #33, and per the “AICPA Sarbanes-Oxley PPT Slideshow” posted on our class website, this board must have 5 members and none of the members can be CPA’s.

a. True
b.   False  (2 of the 5 can be CPA’s – Why do you think this is?
Good Examination #1 review material - see me or our GA team with your questions.
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